

Some Results on Fuzzy Numbers

Avinash J.Kamble¹ and T.Venkatesh²

¹Department of Mathematics, Alva's Institute of Engineering and Technology,
Moodbidri-574 225, Karnataka, India. avinashmath@yahoo.co.in

²Department of Mathematics, Rani Channamma University, Belgavi-591156,
Karnataka,India, tmathvenky@yahoo.co.in

Received 24 September 2014; accepted 29 September 2014

Abstract. In this paper, we will make a brief survey on fuzzy numbers and their properties. The equivalence relation between two fuzzy numbers have been investigated with the help of definition given by Puri and Raelscu.

Keywords: Fuzzy Number, Fuzzy membership function, Fuzzy relation

AMS Mathematics Subject Classification (2010): 03E72

1. Introduction

In most of cases in our life, the data obtained for decision making are only approximately known. In 1965, Zadeh [10] introduced the concept of fuzzy set theory to meet those problems. In 1978, Dubois and Prade [1,2] defined any of the fuzzy numbers as a fuzzy subset of the real line. Fuzzy numbers allow us to make, the mathematical model of linguistic variables or fuzzy environment. A fuzzy number is a quantity, whose value is imprecise, rather than exact as in the case with "ordinary"(single-valued) numbers. Any fuzzy number can be thought of, as a function whose domain is a specified set. In many respects, fuzzy numbers depict the physical world more realistically than single-valued numbers. The fuzzy numbers and fuzzy values are widely used in engineering applications (especially communications) and experimental sciences because of their suitability for representing uncertain information. In this paper, we will make a brief survey on fuzzy numbers and their arithmetic and algebraic properties. Further, we consider the set of fuzzy numbers, as defined by Puri and Ralescu [5,6] define an equivalence relation therein and consider the equivalence classes as "the fuzzy numbers".

2. Fuzzy number

Definition 2.1. A fuzzy set A in R (real line) is defined to be a set of ordered pairs, $A = \{(x, \mu_A(x)) / x \in R\}$ where $\mu_A(x)$ is called the membership function for the fuzzy set.

Definition 2.2. The α -cut of α -level set of fuzzy set A is a set consisting of those elements of the universe X whose membership values exceed the threshold level α .

That is $A_\alpha = \{x \in X / \mu_A(x) \geq \alpha\}$

Some Results on Fuzzy Numbers

Definition 2.3. A fuzzy set A is called **normal**, if there is at least one point $x \in R$ with $\mu_A(x) = 1$

Definition 2.4. A fuzzy set A on R is **convex**, if for any $x, y \in R$ and any $\lambda \in [0,1]$ we have $\mu_A(\lambda x + (1 - \lambda)y) \geq \min\{\mu_A(x), \mu_A(y)\}$

Definition 2.5. A **fuzzy number** is a fuzzy set on the real line that satisfies the conditions of normality and convexity.

A fuzzy number which is normal and convex is referred to as a **normal convex fuzzy number**.

Definition 2.6. If a fuzzy set is convex and normalized and its membership function is defined in R and piecewise continuous, it is called as “**fuzzy number**”. Fuzzy number represents a real number whose boundary is fuzzy.

Definition 2.7. [4] A fuzzy number A is called **positive**, denoted by $A > 0$, if its membership function $\mu_A(x)$ satisfies $\mu_A(x) = 0, \forall x \leq 0$

Definition 2.8. [4] A fuzzy number A is called **non-negative**, denoted by $A \geq 0$, if its membership function $\mu_A(x)$ satisfies $\mu_A(x) = 0, \forall x \leq 0$

3. Properties of fuzzy numbers

Definition 3.1. Let A and B be fuzzy numbers in R and let $*$ denote any of the four basic arithmetic operations. Then we define a fuzzy set on R , $A * B$ by the equation

$$(A * B)(z) = \sup_{Z=x*y} \min[A(x), B(y)], \quad \text{for all } z \in R$$

More specifically, we define for all $z \in R$

$$(A + B)(z) = \sup_{Z=x+y} \min[A(x), B(y)],$$

$$(A - B)(z) = \sup_{Z=x-y} \min[A(x), B(y)],$$

$$(A \cdot B)(z) = \sup_{Z=x \cdot y} \min[A(x), B(y)],$$

$$(A / B)(z) = \sup_{Z=x / y} \min[A(x), B(y)],$$

Theorem 3.2. Let $* \in \{+, -, \cdot, /\}$, and let A, B denote continuous fuzzy numbers. Then, the fuzzy set $A * B$ defined by **3.1.** is a continuous fuzzy number.

Theorem 3.3. If A and B are convex fuzzy numbers in the real line R , then $A + B, A - B, A \cdot B$ are also convex fuzzy numbers.

Proof : For each $0 < \alpha \leq 1$, the α -level sets A_α and B_α of convex fuzzy numbers A and B are convex sets(or intervals) in R . Thus, for any α_1 and α_2 with $0 < \alpha_1 \leq \alpha_2 \leq 1$,

$A_{\alpha_2} \subseteq A_{\alpha_1}$ and $B_{\alpha_2} \subseteq B_{\alpha_1}$ Therefore we have, $A_{\alpha_2} + B_{\alpha_2} \subseteq A_{\alpha_1} + B_{\alpha_1}$ and $A_{\alpha_2} \cdot B_{\alpha_2} \subseteq A_{\alpha_1} \cdot B_{\alpha_1}$ which leads to $(A + B)_{\alpha_2} \subseteq (A + B)_{\alpha_1}$ and $(A \cdot B)_{\alpha_2} \subseteq (A \cdot B)_{\alpha_1}$. Further $(A + B)_{\alpha_i}$ and $(A \cdot B)_{\alpha_i}$ are intervals (or convex sets) for each α_i ($i = 1, 2$). Thus, fuzzy numbers $A + B$ and $A \cdot B$ are shown to be convex fuzzy numbers. Next we shall prove the convexity of $A - B$.

Let $-B$ be defined by $0 - B$, then the membership function of $-B$ will be expressed as, $\mu_{-B}(x) = \mu_B(-x)$, $x \in R$ and $-B$ can be easily shown to be convex, if B is convex.

Thus, $A - B$ is proved to be convex, since $A - B$ is expressed as $A + (-B)$.

Remark:

1. It should be noted that, for discrete fuzzy numbers, the convexity of $A + B$, $A - B$ and $A \cdot B$ does not hold in general.
2. If B is a zero convex fuzzy number, then $\frac{1}{B}$ ($= 1 \div B$) is not a convex fuzzy number.

Theorem 3.4. If A is a convex fuzzy number and B is a positive (or negative) convex fuzzy number, then $A \div B$ is a convex fuzzy number.

Proof : It will be sufficient to prove that $\frac{1}{B}$ is convex, if B is positive convex.

Since $A \div B$ can be represented as $A \times \left(\frac{1}{B}\right)$. Let x, y, z be real numbers such that,

$0 < x \leq y \leq z$, then $0 < \frac{1}{z} \leq \frac{1}{y} \leq \frac{1}{x}$ holds. Thus, we can have

$\mu_B\left(\frac{1}{y}\right) \geq \mu_B\left(\frac{1}{z}\right) \wedge \mu_B\left(\frac{1}{x}\right)$ in virtue of the convexity of B . Therefore we can write

$\mu_{\frac{1}{B}}(y) \geq \mu_{\frac{1}{B}}(z) \wedge \mu_{\frac{1}{B}}(x)$ which leads to the convexity of $\frac{1}{B}$.

Theorem 3.5. If A and B are normal fuzzy numbers, then $A + B$, $A - B$, $A \cdot B$ and $A \div B$ are also normal.

Remark: For two fuzzy numbers A and B , if the one is convex and the other is non-convex, then the execution results of A and B under $+$, $-$, \cdot and \div may be convex or non-convex.

Theorem 3.6. For any fuzzy numbers A , B and C , we have

i) $(A + B) + C = A + (B + C)$

Some Results on Fuzzy Numbers

$$(A \cdot B) \cdot C = A \cdot (B \cdot C) \quad (\text{Associative laws})$$

ii) $A + B = B + A$

$$A \cdot B = B \cdot A \quad (\text{Commutative laws})$$

iii) $A + 0 = A$

$$A \cdot 1 = A \quad (\text{Identity laws})$$

where 0 and 1 are zero and unity, respectively, in the ordinary sense.

Theorem 3.7. For any fuzzy number A , there exist no inverse fuzzy numbers A' and A'' under $+$ and \cdot , respectively, such that $A + A' = 0$, $A \cdot A'' = 1$

Theorem 3.8. For the positive convex fuzzy numbers A , B and C , the distributive laws holds i.e. $A \cdot (B + C) = (A \cdot B) + (A \cdot C)$

Proof: Let α -level sets of positive convex fuzzy numbers A , B and C be $A_\alpha = [a_1, a_2]$, $B_\alpha = [b_1, b_2]$ and $C_\alpha = [c_1, c_2]$, respectively, then each level set is an interval in R and $0 < a_1 \leq a_2$, $0 < b_1 \leq b_2$, and $0 < c_1 \leq c_2$, hold. Thus for each $0 < \alpha \leq 1$,

$$\begin{aligned} [A \cdot (B + C)]_\alpha &= A_\alpha \cdot (B_\alpha + C_\alpha) \\ &= [a_1, a_2] \cdot ([b_1, b_2] + [c_1, c_2]) \\ &= [a_1(b_1 + c_1), a_2(b_2 + c_2)] \end{aligned} \quad \dots\dots\dots(i)$$

$$\begin{aligned} \text{Now consider, } [(A \cdot B) + (A \cdot C)]_\alpha &= (A_\alpha \cdot B_\alpha) + (A_\alpha \cdot C_\alpha) \\ &= ([a_1, a_2] \cdot [b_1, b_2]) + ([a_1, a_2] \cdot [c_1, c_2]) \\ &= [a_1b_1 + a_1c_1, a_2b_2 + a_2c_2] \\ &= [a_1(b_1 + c_1), a_2(b_2 + c_2)] \\ &= [A \cdot (B + C)]_\alpha \end{aligned} \quad \dots\dots\dots(ii)$$

Therefore, we have $A \cdot (B + C) = (A \cdot B) + (A \cdot C)$

Note that, when α -level set is an empty set ϕ , the following holds,

$$A_\alpha + \phi = \phi ; A_\alpha \cdot \phi = \phi .$$

4. Equivalence relation between two fuzzy numbers

Definition 4.1. [5,6] A fuzzy subset A of R is called a fuzzy number, if it satisfies the following conditions,

- i) A is an upper semi continuous map
- ii) $A_{[a]}$ is non- empty for all a ,
- iii) $A_{[0]}$ is a bounded subset of R
- iv) A is convex.

Definition 4.2. [5,6] : Let A and B be two fuzzy numbers, then we define $A \sim B$, if $(A - B)(c) = 1$, $c = 0$ and $(A - B)(c) = (A - B)(-c)$, $c \neq 0$.

Theorem 4.3. The above relation \sim is an equivalence relation.

Proof: 1. Reflexivity ($A \sim A$)

To prove that, $(A - A)(c) = 1$, if $c = 0$ and $(A - A)(c) = (A - A)(-c)$, if $c \neq 0$.

$$\begin{aligned} (A - A)(0) &= \underset{0=a-b}{\text{Sup}}(A(a) \wedge A(b)) \\ &= \underset{a=b}{\text{Sup}}(A(a) \wedge A(b)) \\ &= \underset{a}{\text{Sup}} A(a) = 1 \end{aligned}$$

Now to prove that, $(A - A)(c) = (A - A)(-c)$, if $c \neq 0$.

$$\begin{aligned} (A - A)(-c) &= (A + -A)(-c) = \underset{-c=a+b}{\text{Sup}}(A(a) \wedge -A(b)) \\ &= \underset{c=a+b}{\text{Sup}}(A(-a) \wedge A(b)) \\ &= \underset{c=b+a}{\text{Sup}}(A(-b) \wedge A(a)) \\ &= \underset{c=a+b}{\text{Sup}}(A(a) \wedge -A(b)) \\ &= (A - A)(c) \end{aligned}$$

2. Symmetry ($A \sim B \Rightarrow B \sim A$)

To prove that, $(A - B)(0) = 1$ and $(A - B)(c) = (A - B)(-c)$, $c \neq 0$

$\Rightarrow (B - A)(0) = 1$ and $(B - A)(c) = (B - A)(-c)$, $c \neq 0$

$$\begin{aligned} (A - B)(0) &= 1 = \underset{0=a+b}{\text{Sup}}(A(a) \wedge -B(b)) \\ &= \underset{0=a-b}{\text{Sup}}(A(a) \wedge -B(-b)) \\ &= \underset{0=a-b}{\text{Sup}}(A(a) \wedge B(b)) \\ &= \underset{0=b-a}{\text{Sup}}(A(b) \wedge B(a)), \text{ by symmetry} \\ &= \underset{0=a-b}{\text{Sup}}(B(a) \wedge -A(-b)) \\ &= \underset{0=a+b}{\text{Sup}}(B(a) \wedge -A(b)) \\ &= (B - A)(0) \end{aligned}$$

Given that, $(A - B)(c) = (A - B)(-c)$,(i)

$(A - B)(-c) = -(A - B)(c) = (B - A)(c)$ (ii)

$(A - B)(c) = -(A - B)(-c) = (B - A)(-c)$ (iii)

From (i), (ii), and (iii), it follows that $(B - A)(c) = (B - A)(-c)$, $c \neq 0$

3. Transitivity To prove that, $A \sim B$ and $B \sim C \Rightarrow A \sim C$

First we will prove $(A - C)(0) = 1$

We have $\underset{0=a-c}{\text{Sup}}(A(a) \wedge B(c)) = 1$ and $\underset{0=c-b}{\text{Sup}}(B(c) \wedge C(b)) = 1$

Some Results on Fuzzy Numbers

$$\begin{aligned}
 \underset{0=a-b}{Sup}(A(a) \wedge C(b)) &= \underset{0=(a-c)+(c-b)}{Sup} (A(a) \wedge C(b)) \\
 &\geq \underset{0=(a-c)+(c-b)}{Sup} (A(a) \wedge B(c) \wedge B(c) \wedge C(b)) \\
 &\geq \underset{a-c=b-c=0}{Sup} (A(a) \wedge B(c) \wedge B(c) \wedge C(b)) \\
 &= \underset{a-c=0}{Sup}[A(a) \wedge B(c)] \wedge \underset{b-c=0}{Sup}[B(c) \wedge C(b)] \\
 &= 1 .
 \end{aligned}$$

Next to prove that, $(A - C)(c) = (A - C)(-c)$, $c \neq 0$

$$\begin{aligned}
 (A - C)(c) &= \underset{c=a-b}{Sup}(A(a) \wedge C(b)) \\
 &= \underset{c=(a-t)+(t-b)}{Sup} (A(a) \wedge C(b)) ; t \in R \\
 &= \underset{c=(a-t)+(t-b)}{Sup} [A(a) \wedge B(t)] \wedge [B(t) \wedge C(b)] \\
 &\leq \underset{c=c_1+c_2}{Sup} [(\underset{c_1=a-t}{Sup} A(a) \wedge B(t)) \wedge (\underset{c_2=t-b}{Sup}[B(t) \wedge C(b)])] \\
 &= \underset{c=c_1+c_2}{Sup} [A - B)(c_1) \wedge (B - C)(c_2) \\
 &= \underset{c=c_1+c_2}{Sup} [A - B)(-c_1) \wedge (B - C)(-c_2) \\
 &= \underset{c=-c_1-c_2}{Sup} [A - B)(c_1) \wedge (B - C)(c_2) \\
 &= \underset{-c=c_1+c_2}{Sup} [A - B)(c_1) \wedge (B - C)(c_2) \\
 &\leq (A - C)(-c)
 \end{aligned}$$

$$(A - C)(c) \leq (A - C)(-c), \quad \dots\dots\dots(iv)$$

$$\text{Similarly we can prove that } (A - C)(-c) \leq (A - C)(c), \quad \dots\dots\dots(v)$$

From (iv) and (v), it follows that, $(A - C)(c) = (A - C)(-c)$, $c \neq 0$

Definition 4.4. The fuzzy number 0 is defined by $0(0) = 1$, $0(c) = 0(-c)$, $\forall c$

Remark; $A \sim B$ if and only if, $A \sim B \sim 0$.

Definition 4.5. Let A and B be two fuzzy numbers.

If the mid-point of $A_{[a]} \leq$ mid-point of $B_{[a]}$, then we say that, $A \leq B$

Definition 4.6. A fuzzy number A is called non-negative, if the mid-point of $A_{[a]} \geq 0$, $\forall a > 0$

Proposition 4.7. Addition is compatible with equivalence \sim i.e. if $A_1 \sim B_1$ and $A_2 \sim B_2$, then $A_1 + A_2 \sim B_1 + B_2$.

Proposition 4.8. If A , B and C are non-negative fuzzy numbers, then multiplication is compatible with equivalence \sim i.e. $A \sim B$, then $AC \sim BC$

Proposition 4.9. If A_1 , A_2 , B_1 and B_2 are non-negative fuzzy numbers, then multiplication is compatible with equivalence \sim .

i.e. If $A_1 \sim B_1$ and $A_2 \sim B_2$, then $A_1A_2 \sim B_1B_2$.

Proof: Since $A_1 - B_1 \sim 0$ and $A_2 - B_2 \sim 0$.

$$\begin{aligned} A_1A_2 - B_1B_2 &= A_1A_2 - B_1A_2 + B_1A_2 - B_1B_2 \\ &= (A_1 - B_1)A_2 + (A_2 - B_2)B_1 \\ &\sim 0A_2 + 0B_1 \\ &\sim 0 \end{aligned}$$

i.e. $A_1A_2 \sim B_1B_2$

Proposition 4.10. If A is a non-negative fuzzy number, then $A^2 \geq 0$

Notation 4.11. The set of equivalence classes of fuzzy numbers is denoted by \overline{R} and the set of equivalence classes of all non-negative fuzzy numbers is denoted by \overline{R}^+ . The equivalence class containing fuzzy number A is denoted by $[A]$. The equivalence class containing fuzzy number 0 is denoted by $\overline{0}$, where 0 is defined by,

$$0(0) = 1, \quad 0(c) = 0(-c), \quad \forall c$$

Therefore, we have the following,

$$[A] = [B] \quad \text{if and only if,} \quad [A] - [B] = \overline{0}$$

5. Conclusion

In this paper, we have made a brief survey on Fuzzy numbers with their properties. We have considered the definition of fuzzy number given by Puri and Ralescu to determine the equivalence relation between two fuzzy numbers and finally made an attempt to denote equivalence classes as the fuzzy numbers.

Acknowledgement

The authors, would like to thank the authorities of Department of Mathematics, Alva's Institute of Engineering and Technology, Moodbidri- 574 225 Karnataka-India and Department of Mathematics, Rani Channamma University, Belgavi- 591 156 Karnataka, India for their constant support to make this paper as successful one.

The author is also grateful to the reviewers for their valuable comments to improve the presentation of the paper.

Some Results on Fuzzy Numbers

REFERENCES

1. D.Dubois and H. Prade, Operations of fuzzy number's, *Internat. J. Systems Sci.*, 9(6) (1978) 613-626.
2. D.Dubois and H. Prade, Fuzzy numbers: an overview In: Bezdek, J. C., ed., *Analysis of Fuzzy Information Vol.1: Mathematics and Logic*. CRC Press, Boca, Raton, FL, 1987, 3-29.
3. G.J.Klir, *Fuzzy Sets : An Overview of Fundamentals, Applications, and Personal Views*, Beijing Normal University Press. 2000, pp 44-49.
4. H.Nasseri, Fuzzy numbers: positive and non-negative, *International Mathematical Forum*, 3(36) (2008) 1777-1780.
5. M.L.Puri and D.A.Ralescu, Differential of fuzzy functions, *Journal of Mathematical Analysis and Applications*, 91(2) (1983) 552-558.
6. M.L.Puri and D.A.Ralescu, Fuzzy random variables, *J. Math. Anal. Appl.*, 114 (1986) 409-422.
7. R.Pradhan and M.Pal, Intuitionistic fuzzy linear transformations, *Annals of Pure and Applied Mathematics*, 1(1) (2012) 57-68.
8. T. Priya and T.Ramachandran, Some characterization of anti fuzzy ps-ideals of ps-algebras in homomorphism and cartesian product, *Intern. J. Fuzzy Mathematical Archive*, 4(2) (2014) 72-79.
9. T.Priya and T.Ramachandran, Some properties of fuzzy dot PS-sub algebras of PS-algebra, *Annals of Pure and Applied Mathematics*, 6(1) (2014) 11-18.
10. L.A.Zadeh, Fuzzy sets, *Information and Control*, 8 (1965) 339-353.